
In[15]:= f@i_D := Ha2 Hi − mbL + a1 Hmf − iLLêHmf − mbL Sin @π u Hi − mbLêHmf − mbLD +

Hx2 Hi − mbL + x1 Hmf − iLLêHmf − mbL

In[18]:= f@jD

Out[18]=
H−j + mfL x1 + Hj − mbL x2

−mb + mf
+
Ha2 Hj − mbL + a1 H−j + mfLL SinB Hj−mbL π u

−mb+mf
F

−mb + mf

In[19]:= ∂u f@iD

Out[19]=

Hi − mbL Ha2 Hi − mbL + a1 H−i + mfLL π CosA Hi−mbL π u
−mb+mf

E

H−mb + mfL2

In[20]:= ∂a1 f@iD

Out[20]=

H−i + mfL SinA Hi−mbL π u
−mb+mf

E

−mb + mf

In[21]:= ∂a2 f@iD

Out[21]=

Hi − mbL SinA Hi−mbL π u
−mb+mf

E

−mb + mf

In[22]:= ∂x1 f@iD

Out[22]=
−i + mf

−mb + mf

In[23]:= ∂x2 f@iD

Out[23]=
i − mb

−mb + mf

i − mndx

−mndx + mndxp

In[24]:= f@iD

Out[24]=
H−i + mfL x1 + Hi − mbL x2

−mb + mf
+
Ha2 Hi − mbL + a1 H−i + mfLL SinA Hi−mbL π u

−mb+mf
E

−mb + mf
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